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1: 1
2Simplify the following:

v + v + v + v + v = __________a) u + u + u + u + u + u = __________b) 

h + h + h + h = __________c) n + n + n = __________d) 

2: 1
2Simplify the following:

4x + 2x = __________a) 2r + r = __________b) 6f  + 10f  = __________c) 

2t + 7t = __________d) 8q + 6q = __________e) 5e + 8e = __________f) 

2y + 8y = __________g) 10a + 4a = __________h) 

3: 1
2Simplify the following:

5k + 3b + 7k + 5b = __________a) 9w + 5z + 4w + z = __________b) 

8j + 7p + 3j + p = __________c) 5s + 3m + 4s + 2m = __________d) 

9c + g + 2c + 5g = __________e) 10r + 10n + r + 3n = __________f) 

t + 10f  + 7t + 10f  = __________g) 4x + 8z + 5x + z = __________h) 

4: 1
2Simplify the following:

6v + 3 + 3v + 10 = __________a) 4u + 1 + 4u + 9 = __________b) 

7k + 3 + 3k + 7 = __________c) 7y + 8 + 4y + 2 = __________d) 

4j + 7 + 9j + 5 = __________e) 8h + 4 + 7h + 7 = __________f) 

10g + 10 + 9g + 7 = __________g) m + 6 + m + 6 = __________h) 

5: 1
2Simplify the following:

5e + 2c + 6 + 2e + 6c + 7 = __________a) 

p + 2b + 6 + 3p + 5b + 2 = __________b) 

10w + 9q + 8 + 6w + 7q + 9 = __________c) 

3a + 5s + 3 + a + 9s + 3 = __________d) 

k + 7t + 8 + 10k + 2t + 5 = __________e) 

5v + 5r + 6 + 5v + 10r + 8 = __________f) 
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2j + 7z + 9 + 9j + 8z + 10 = __________g) 

10e + 2h + 1 + 5e + 4h + 8 = __________h) 

6: 1
2Simplify the following:

-6n + 8n = __________a) 10u - 5u = __________b) 4f  - 4f  = __________c) 

-4x - 9x = __________d) 8m - 6m = __________e) -g - 2g = __________f) 

-3y - y = __________g) -7w - 3w = __________h) 

7: 1
2Simplify the following:

-7a + 9s + 10a - 2s = __________a) 6q + 7p - 4q - p = __________b) 

8c + 6b - 8c - 2b = __________c) -8k - h - 4k - 8h = __________d) 

-4z - 9r + 3z + 4r = __________e) -10f  - 3n - 8f  + 6n = __________f) 

-7a - 3m + 4a - 9m = __________g) -7v - 5w + 3v - 2w = __________h) 

8: 1
2Simplify the following:

-10j + 4 + 9j - 5 = __________a) -2x - 5 + 4x + 4 = __________b) 

-5p + 6 - 4p - 10 = __________c) -9c - 9 - 7c + 5 = __________d) 

7q + 4 - 6q - 6 = __________e) -5b - 7 - 5b - 6 = __________f) 

-10y - 5 - 3y + 8 = __________g) 5e - 5 - 6e + 9 = __________h) 

9: 1
2Simplify the following:

-3g - 7u + 1 - 6g + 6u - 2 = __________a) 

8t - 10s + 3 - 3t + 3s - 4 = __________b) 

9m - 9f  + 1 - m - 4f  - 6 = __________c) 

7w - 6a - 7 - 3w - 8a + 2 = __________d) 

8k + 9v - 2 - k - 4v + 5 = __________e) 

2r + 10c - 6 - 10r - 3c + 5 = __________f) 

n - 9j - 7 - 4n - 8j - 7 = __________g) 

-10q + 5y + 6 - 2q - y - 6 = __________h) 
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1: 1
2 5va) 6ub) 4hc) 3nd) 

2: 1
2 6xa) 3rb) 16f c) 9td) 

14qe) 13ef) 10yg) 14ah) 

3: 1
2 12k + 8ba) 13w + 6zb) 11j + 8pc) 9s + 5md) 

11c + 6ge) 11r + 13nf) 8t + 20f g) 9x + 9zh) 

4: 1
2 9v + 13a) 8u + 10b) 10k + 10c) 11y + 10d) 

13j + 12e) 15h + 11f) 19g + 17g) 2m + 12h) 

5: 1
2 7e + 8c + 13a) 4p + 7b + 8b) 16w + 16q + 17c) 4a + 14s + 6d) 

11k + 9t + 13e) 10v + 15r + 14f) 11j + 15z + 19g) 15e + 6h + 9h) 

6: 1
2 2na) 5ub) 0c) -13xd) 

2me) -3gf) -4yg) -10wh) 

7: 1
2 3a + 7sa) 2q + 6pb) 4bc) -12k - 9hd) 

-z - 5re) -18f  + 3nf) -3a - 12mg) -4v - 7wh) 

8: 1
2 -j - 1a) 2x - 1b) -9p - 4c) -16c - 4d) 

q - 2e) -10b - 13f) -13y + 3g) -e + 4h) 

9: 1
2 -9g - u - 1a) 5t - 7s - 1b) 8m - 13f  - 5c) 4w - 14a - 5d) 

7k + 5v + 3e) -8r + 7c - 1f) -3n - 17j - 14g) -12q + 4yh) 


